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( Principles of Macroeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
To 2P Teq o

(a) Define LM curve.
LM I3 et s |

(p) What is the condition for equilibrium in
the money market?

T4l ISR SRR 56 % 2
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Define aggregate demand.

W%Wfi‘mm’wﬁmi

What is liquidity Preference?
O 5% {5 9

Give the meaning of cost-push inflation_

T-gFEiTe g oY feis |

Why does deflation occur?

W}%ﬁmmiﬂ?

Define hyperinﬂation. :

O TS sicway oy |

Who gave the concept of Phillips Curyep

%@WW@%W%?

What is rate of €xchangep

ﬁﬁwmmﬁﬁ?
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2. Answer the following questions - 2x5=10

o 2T T
(a) Explain aggregate supply function.
SAE A F 5, T I

(b) Show the differences between demand-
pull and cost-push inflation.

sifE-gaete S m—qﬁaﬁﬁ'@@%ﬂ
mvﬂmm{wl_

(c) HoW does effective demand determine

employment?

(d) What are the differences between
Current Account and Capital Account?

(e What are the instruments of foreign
exchange?
mﬁ?‘ﬁﬁwa@m‘[ﬁﬁ?
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3. Answer any Jfour of the following questions :
Sx4=20
O AP R I BRER g ey

(@) Give the reasons for shift in the
aggregate demand curve,

mw&mmm@ﬁ@mww
fers o

(b) What are the weaknesses of IS-LM
model?

IS-LM SHIiRCOR farommyz & fs o

() Discuss the determinants of inflation,

Wﬁﬂﬁmww:

(d) Discuss the workin
brief.

ST TR S0 e <y

& of multiplier in

(e) What are the characteristics of
exchange market? Discuss.

m%ﬁﬁww% ?
SAICEHTS=T 17 | Ml
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() What does the short-runl Phillips curve

show?

e el @z B orgeT ?

4. Answer the following questions : 10x4=40

oo TR T feran
What is effective demand? Explain the

importance of effective demand and its
2+8=10

(@)

determinants.

Or / =%[l

Distjnguish between aggregate demand
and aggregate supply. Discuss the

components of aggregate supply. ~ 4+6=10

Wsﬁﬂﬂﬁm@‘émﬁmmmar@
WIW@W%WWWI

(b) What are the features of IS curve?
lain the derivation of IS curve. 4+6=10

Exp
IS ﬂﬂﬁﬁ?@ﬂﬁﬁ‘ﬁ? IS @A™ S=39
sifart 0
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(d)
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Or / g23r

Explain the IS-LM mode] with the help
of diagram.

IS-LM N1f2cB1 foas stare s <oy |

Discuss the various effects of inflation.

TR A eretacam sgaman 2047 |

Or / 923t

Write a note on the long-run Phillips
curve.

%ﬁq%ﬁ%{%wmkﬂﬁmﬁml

How does IS-LM curve
relation between rate of i
income level? Discuss.

explain the
nterest and

10

10

10
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Or/ [l

What is Balance of Payments? What are

its components? Distingui

sh between

Current Account and Capital Account of

Balance of Payments.

2+4+4=10

Wmﬁ*?w%wiiﬁiﬁw
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KK

3 (Sem—4/CBCS

A R

)ECO}KHR01



